FUNCTIONS

Answer: The output is 3x2 =6.

A DEFINITION

Ex 4:
A.1 CALCULATING THE OUTPUT OF A FUNCTION 8
Ex 1: * I
3 ! .u. <—> ?
Y hid =2
!' *.0 "" i TR
2
I I e Rule: divide by 2
e Input: 8
e Rule: add 2 e Output:
* Input: s Answer: The output 1S 82 =4,
e Output: Ex 5:

Answer: The output is 342 = 5.

z ¢
Vilong- 4

e Rule: add 4

J L e Input: 7

c,oC =

e Rule: subtract 3 e Output:
* Input: 0 Answer: The output is 7+4 = 11.
e Output: Ex 6:

Answer: The output is H—3 = 2.

Ex 3: l*() I
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e Rule: subtract 5

J L e Input: 10
e Output:

e Input: 3 Answer: The output is 105 = 5.

e Output: @ Ex 7:

e Rule: multiply by 2



e Rule: multiply by 4

e Input: 6
e Output:

Answer: The output 18 6x4 = 24.
Ex 8:

20
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e Rule: divide by 4

e Input: 20
e Output:
Answer: The output is 204 = 5.
A.2 FINDING THE RULE OF A FUNCTION

Ex 9: For these inputs and outputs, find the rule:

Input 214
Output |5 | 7|9
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Rulo:

Answer:
e 2+3=5
e 4I+3=17
e 6+3=9

So, the rule is add 3.

Ex 10: For these inputs and outputs, find the rule:

Input 11
Output | 3 | 6| 9
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Answer:
e H—2=3
e 5-2=606
o 11-2=

So, the rule is subtract 2.

Ex 11: For these inputs and outputs, find the rule:

Input 112|134
Output | 2 |4 |6 | 8

I 2 3 4
y I y I ¥ I y I
O8O ° 0 ° 0 ON0
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Answer:
o 1x2=2
e Ox2=14
e 3xX2=606
o Ix2=28
So, the rule is multiply by 2.
Ex 12: For these inputs and outputs, find the rule:
Input 26|10 | 16
Output |1 |3 | 5 8
2 6 10 16
o I o I o I o I
O8O O8N0 o0 ON0
v 5 -{»1! 5 <+3! ; -‘»5! v
S a e a

Rulo:

So, the rule is divide by 2.
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B TABLE OF VALUES

B.1 CALCULATING THE OUTPUTS OF A FUNCTION

\ L5 PR

+2
Ex 13: For the rule "add 2", am , complete the table
of values:
Input 2 3 4
Output @
Answer:
e 2+4+2=4
e 3+2=5
o 4+2=06

\ L0 <4

+3
Ex 14: For the rule "add 3", a , complete the table
of values:
Input 0 5 10
Output
Answer:
e 0+3=3
e H+3=38
e 10+3=13

A4 -Ir- <4

—J
Ex 15: For the rule "subtract 5", a , complete the
table of values:
Input 6 12 | 20
Output
Answer:
e 6—5H=1

X
Ex 16: For the rule "multiply by 10", st , complete
the table of values:
Input 2 5 20
Output 1200
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Answer:
e 2x10 =20
e 5x10 =150

e 20x10 =200

Ex 17: For the rule "divide by 5",
the table of values:

Input 5 | 10 | 20
Output
Answer:
e HhHh=1
e [0+H=2
o 205 =
C GRAPHS

C.1 PLOTTING LINE GRAPHS

Ex 18: Plot the line graph for the rule "add 2",

using the table of values below:

Input 11234

Output | 3|4 |5 |6
Y
7 2
6 +
5 +
4 4
3 4
2 4
1 4

0 123 45
Answer:
Y
7 2
6 +
5 +
4 4
3 4
2 4
1 4
T

0 1 2 3 45

, complete

*! i
e

TRy
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Ex 19: Plot the line graph for the rule "multiply by Ex 21: Plot the line graph for the rule "multiply by

t .‘E. _,‘, t '%0 4*

X2 X3
2" & e , using the table of values below: 3", - , using the table of values below:
Input 0|1[2]|3 Input o123
Output |02 (4|6 Output (0|36 |9
¥ /
10 %
6 f 91
51 gl
41 -
3t 61
21 51
1t 4l
91
Answer: Ly

Y—ttb

Y 0 1 2 3 4
7 A
6 L
51 Answer:
471 Y
31 10
21 9
14 8
7
0 1 2 3 4 6
5
Ex 20: Plot the line graph for the rule "subtract 4
v ;
o
i i :
1", a - , using the table of values below: T
0 1 2 3 4
Input 112|345
Output |0 |1 |2| 3|4
Y
54.
44.
34.
24.
14.
0 1 2 3 4 5 6 v
Answer:
Y
54.
44.
34.
24.
14.

0 1 2 3 4 5 6
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